naLwa -2-1Mn0 aTR YW Imhw

il
W 1A% - MY PRI 50
L mmbw sn 1w T axm (1
MW IR L1720 DWR WA OTR PPRT W7 179w 11,0192 Awvnn PR Mmown X727 8007 (R
MMYwa P30 ML X"R JWYHRT AT 8% (2 .02W X921 IRY 927 700 DR PRT 0N
X2 MW 8927 ,1WRIT 19N .APWAT DY NAWAI JwYAn XINY 1IV0 X7 MMHwaT 770y 127
X177 ,°0W WY RITWIT ROR ,ANR XY P77 MPR 207 107 10 W1 2000 RP1TT L0900 Iwvnn oo
WAL 12 0

NIDOIT BRIV BRI BY NTA

Mpn 931, MITOWR 027 DY 20OV mYWHRnwd P RIT NAPYY 21T ORD 997 RN MIMOY 0797 R
RN97 19XRW 1M,MMHWI 127 DY 229V RT QW7 3100 PUITRY PUAA R ML w170
IPRW NIXNA D71.0277 DY 2°HYA KD RITW 7RI NINAY 9197 11RWOT Mnhwa XNYY 2R1Na RNYYT
mrhw »7h ovhva

“Our” Model of mmn*ow 2
“Track A”

ni7ya - Empowerment

N> N'on

NI17N oriented

Provides NVYT { capacity to effect a status transformation}

N'"7Y requires NYT but not necessarily “Affinity” to the N'7WN
Relatively independent in activities- 77 *12'¥ allowed

7101 relatively easy, even 1'191 N7v

Acting on the “Authority of” the n7un

AND [Subordinately]
“Track B”

D"?_UJ. — Instrumental Representation

NDDIWN nT' — “ Extension-Tool-Arrow-Robot”
NYYn oriented — Mo ni [theoretically could be nnoani]
Provides N1I1D ornNDON NOT NVT

N'7Y doesn’t necessarily require NYT but may require “Affinity” to the
n7wn

Dependent-'7|7 '12'W prohibited —an ‘instrument’ of the n7wn
210" hard, only 1192

Acting “As” the n7un

! See similarly -m 1 P12 1 Www WY ww
? Though certainly the M i y21p sees them as 2 INDEPENDENT FORMS of mmow .
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1] The difference between 72ap o2 and 7997 Mvw

1 27D PRI MR 2 ann

R 71997

12K WIAND 177 0AT IOWNY 23R 1OPW RIPIT RIT A9V TR 003 2 2apR AWKT Tvww s
077 1290RY D Y LA YA VTV DTV I 2R 2007V w2 My 997X, a7
T3 NITY T 0T MR DONDWRIT 12 TR R ONWKRI

3 7290

RIPIT RIT AN INWR? VAT T2 THW MWYS 127 9aR INWRY 02 72P0 YW MWY? 9150 1K HYad
sab B rebrlivg

1) 2 categories of mw are’ delineated by the 0"an1 = 722p oW and 7997 mHw.

2) Only 1%2p MW requires 01°p *7¥ for its creation.

3) How does 172p m%w fit into our model of Mm*5w? The WX has no M5y1 to access
“Track A” = mbya type Mm>2w =n> n°on - which is the very To° of mmbw!

79917 hw- “Classic” mmhw = “Track A -mPya ” =15 n°on - with a
subordinate “Track B -0'%va ’nimsw.

n92p oW — An independent “Track B-°%va” type mmow = Xn2*IX 770,

As we said, following the 1”13, Track B mim»w doesn’t exist initially as an independent
form of M*5w - without a >7n13. Here by 772p %W — it exists because of the 57713 - oW
W WY XY TN - i.e. as part of the rubric of PR and P, where “Track A”
mmYw exists [ for the 5va ] the 57713 teaches us that a woman can exercise a Mmow
option, to fulfill her needs in the process, as well. By definition this must be a “Track B -
Dya” type mmbw that exists independent of® “Track A -mbya = nd nvon ” Mmbw.

The 0"2am1 seems to endorse the idea that 792 5w follows the Xn2°7X 87> model.

A 7990 R PID PRI Mha 2 ann
S00W 77X IR 777 RIAW MW T2 IR 772 UAT DY TV DWIANA FIPRY A9 ,77°2 100 ..
17 XY TRWOW RY IR [RWAT RITW 0T IV W L, RN 19D 0700

3 See:
W 77995 A PYD MWK Msb a''ann
DNAR VIR ROR WORD MITHWaA 2790 21pn PRY 227Y2 IMWYY TR PR AWK 12 WIPY 10w IWYW WORT AN ...
922,772 KXY 712170 172 WOIDRR W IAW MOW 1231 VAT O 1D 22TV P27 IR AWM MW 170 OR 72999 ,0277
R"K 772 KXY 72170 W02 1WINW 70w 131 VAT TOW 123 /7RI DAY/ 20T TR IR IMND OTR YW Imow
DI O°IW 1°ORT PYITPA DAR L9790 MITY TN PR IO PIVDY POV 179311 103 LT DY PAVDT RAD T P70 PR
LRI 0192 R 01 AWM mHWR TN 00 0190 IR

* Thus far.
5 But in this case “within the rubric of”
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R 772977 77 290 1R Mo 2'ann

DWYW MW IR T80 N AP0 R 370 TORY 77 VAT YO KR 21037 11V PR 7702 100 7002 W T
X277 MW 927 79 37IRWT W 72 DY T8 IR 79 70IP0 TR0 TR X173 70K 290 Ao
JWANI IMWA? 0T WM

Clears up a “contradiction”:
2 77297 2 PP RN PIPw mob a'ann
MR NEPHA JW NYT *32 771 2RI AW 72V 120KR1 WOR NWR 1299R) WK WX WX 190 07X 70w
YW YW R PO PRV TR 02 J0IW WA 1T YT 212 1XYW O DaR LI0m Rwn? v Pwyl
DR 72RY T0°RT DX 19 TN 1AW 07K 12 7T 207 DEKR VP 112 AW T72°07_,010p0 TR 1R TR
52191 NYT 2 QY XX mHWD 19 00 XD WY KROR ITPW XYW QYWD 2701 21T 0K NRY 1AW
SNVD AT 07T O OV 07 MW IR WD ORI LT YD

15 775557 A P95 NIWONR N19bT 2''ans
....IV7 212 IPRW DY JURY AW WA YN Mmewh 1w 9o

¥ 7729571 PO PRI Noh 2 ann
,722P% OW AwW TR TI0PY L9V YW MW TR aua R 92p% 07ap bW mwy qwRo v ...
NYT 12 1KY (0P8 28 PR PRI D27V 100X 7922p 1PRww 197 ,a21730 AW A 77 AP 730w "IN

1277 ONKR 03 ONR RPR 1797 XY QV0 17 1R a0 A1 KRR 0P 9V PTOVR PRI 20TV IR a9ap mOww v1on /1" aRn naw/ a0
NYT 212 N1AY PR AWM MOWAW X¥NI NYT °32 23MPW A% DT %12 ONKR 72 230w

1 P72 PR MR TR 7
ORI WIR 92 Y 21177 ,00D NUIAW 21V RIT TART 07 ,NMITRW A0 W W 7337 72 07 AR
27P 92 IMR 0N [1,2° MW RIPT NIND DUWD K17 OO L0027 1°2 WY IV2INA 17097 vINYY
oW MY NNAl NIRRT 10w 0"V IMR AW 031,709 VINW? YR WIR 9 DY N0 MINnIT IR
X1 LAY DX 110 M 1NN OTR 2w 1M2W 120AKT IR? X LN 70 772 RYO KD POTY 108y Y R
M"YY ORI 0210 DT MY MM POYS IROYT 102 IR MR 177w K1 MM YIwn A0 N8y
WM ,OW MY 727 2 AR A1 MIMHYWAT ,ARIY IR 101 MW 11907 MWI? MY ARYIN
....... IRY?Y T%AT P2 YYD P IR

7727 °owa "3 PwIaa...... SPmw o310 20 217 MR PRTTR PRITRT MW mIm
LWTAR R 990 707 82 RDY DAR TARI W W OR ORI ,OWT 00 0AT PO3T2 9970 D°0A PYATT
...... 77707 1AV 210 K1 AT 70707 792302 MW AN 0IR S ImowT 2wn 2"

In our terms: 79717 YW =“Track A”mm oW, while 792p mbw = “Track B”mm°>w i.e. no
mbva in the process exists, the Mm>w provides 0°9v2. n¥7 is not an issue for Track B
mmow, therefore as the 0"an points out the obstacle must lie elsewhere.’

® The 797 7> goes on to state: XI7 *XTNA AP AWK WX AP® *2 P 7NN WA XY 77T 1T PRATP MmowaT
ANMD QTR 2w HWT JNKRT NG OR 1O 0"V 19033 [N100] PUITRT P212°T TARIT NN 2201 108y 'Y - our
analysis of for somewhat differs.
" We must point out that the "3 explains differently:
1279 P17’ MDY 2 070 M
72127 7107 577 DYT 212 1V RAYY T 2WR 2T ,10P0 DY PTOYR PRI RAYD T 0"an7 P01 937 2wnT AR
7"MT 170,77 MIOT T A1 VI DR 10T OV 1TV PRT RAVY 17 0Wn AR L7 MIAT R LW 21pna mow 0"y vl aph
5727 010 O3 XYM .9 R MIDTW D192 AR K230 KD "Y1 ,J0P DY PTIYA PRI LDV X 0 MMOWT 103 R 007V
O"RY, TP DWR RIT VAT I¥AT [2"Y] A7 1"22 N2 ROTAD 0T ,Y"N 3170 AW a9 AP 30X O"HYR 00w 0"ann
072 QW 77,8173 577 7379991 ,70P0 MMHW PR 70 0w vk 2"Rwn LT 21Wn 17 103 1I0pA O3 22V DAL X A0
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It gets more complicated- a 3" type of 9w is introduced:

1 295 PR3 Mo ' ann
7 7500
IR 719917 OV PRI LRI 70w ROPIT R AN 792 T 03 77 X020 100w DnwW WK 1
027V X

hih e b
MRV DIPA 91,7770 VA YRW T ARIT MO 2 X2V IR OYIAT OWY 032 DWIANN TWRT PR
IR POW IR 71997 1OV X1 QN0 1PRW POOAT 1Pava

b
WA T2V 2037 WANT 1A YIN RN 7997 mHWL 12 19ap 10w 12 AT Mmhwt 1w Yo
03 IR VA 1A TAR X027 IR 93P ORI LJ0pm 0w

This category of 17w seemingly poses a challenge to our model of M>5w. It certainly
appears not to be “Track A” type m°?w — the AWK has no M5ya to produce such a wow. It
is not “Track B”mm*5w like a 792p m%w - it has no 0°%va = “nn>” status and certainly
seems not to be XN2>X 77 =77°2. The WX is not Nwan with the 73°01 to the AR MW,
"w1 deals with the issue thusly:
N TIAY W 07 RYIZH X232 noon v''we
12 TNR - 29V DR RIAN OR STARD TAKRY AWK - 03 %9 22p00 7INR JRWRY W3 07 X257 1110073 000
SY27 29 799102 1°2WT 0700 U3 WOAAWI MIWIa? 2y Hw 1mow awyen ,77°2 20 DR O mhww
,ANINDY AMBYW RN RTW  MWYD TWRA DY 79207 10w ,070 03 YORWD DWIANA UK ,MwY?
JTOW 700 03 YRWR WM
Le. the X277 W is a form of 797177 9w — this certainly fits our model. But does not
seem to “shtim” with the "% of the 0"2m. He clearly holds that a nxan m°%w is a %W of
the WX not the 5va.
The resolution of the 1" will not work for our model as well:
R 7I1»Y 175 07 1w noon 7' By 1
7O9R MOW AW AWRT PRY 200 7MW XY IR 7000 MO i AwRT ar 2" 2 wRAT RPN
X7 7°m 79" 1" ana Ny 197 [ S0 b aww awRaw Pwina mavan "3 and B o"amm]
3"7192 777 3109997 DY Y MR DY DIR T 7782 TR 00 117 RO2OW YWY WRI IR ORY
RT7 WIAR 277 992 1MPW XWX DR DY 0 MR OX DAR U0 IRWY 9Y2AT 0w 0370 RN

7R AR A2 XA DI M7 QPR 370091 ,17102 XX OTRY 1AM PRT DWW 1782 NTAW AR X031 KD UAAT IR XM
77 137K 2"YY,00TY J1°Y2 RY XAAT ,20MDW CIRWA R CIRW MIT 2PN 130RaT 2"anT0 1YW A1 ,1782 DT
ORI DY PTYA PRI 20TV TIRT 100 2PMYW RWA 3"RWA ANy T ROW 3780 0"V 730p% 03 Motk 9171 17192 XYW 07RY
DWW RIT,IVP? MITHW PPRT RAVY 772 777 207 7" .79 R NIDTW 21912 AR 300 IR 7107 MIT? 9120 1K 2"y
P7 RIIMR RAVD XY 2" ,5"0 RY RAYL 777 93WA0 DOWRIQ 12N0W 111,100 DY PTYR PRT RAVL T 9 DY panT
X377 19 77912 7NA 992 107 ,70ph MW PR

8 1.e. = AR 9w thru it the m9w is 791’ the va to the TwX.
? See:
2 7MY 20 77 P02 NO0N 12N IR
Q"M ,PINRT DR WA D2 JTPWITON AR 11 L2PH ROX X070 MOW IWW AWRT PRY PN YN AT Y -mIRa
N2 RI077 191 QYDA PRI 1PI27W ROR 7713777 0792 PRI AR P2 79292 P2 10w AW AwRIWw 20D 2" 071000
P9 Y1 ,'onn Moaw Moo 17 ,A"R] 79912 MDY NI I TWRA 1IR3 M MY, TIRT? 07 PRI TUw)
[aa"o
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X7 797 1A OTR W 1MW 1107 WworT 3" HAmow T K91 5vam 7n &Y 0 0930 82 SR
1PR7DT 1°N°INAY 9707 03 POWD ROR WIANNY X1 J1RW 71010 XOTW XX 1N922p K7 12K

As stated earlier the 7wX has no M%va to produce such a 9w - where she has the ability
to create a °Xin. Furthermore, the 0"2n7 makes no mention of such a >Xin.

We can understand the 2"2»7 in terms of our model:

1) Both the 7827 5w and 7%2p YW are 29w of the AwK.

2) The nwx — while included in the 17 of M*5w by w17 still has no N7y over the
process and can only access Track B = qwyn oriented mm*%w, not Track A = n7von
> type mmow.

3) While the ''1o* of mmow is 15 non — WITHIN the “Track B level” we can
invoke the 7pn — Is mmow of this type [=Track B]- mom» ni = “attribution
only or M»2ani1 = “embodiment™'*?

4) mmpy' Track B mmow is mon»na = “attribution” of the Awy» only- in the sense
of mHWn? nom nn WYY,

5) A 1Ra7 oW operates via “classic” Track B mmow = momna. It =“\nins”= a7
XN>»X but not 77772 wnn. It is sufficiently attributable to the 7wR to avoid the
problem of ¥pap 23 H¥n v "9 — but not to fulfill the 17 of “77°2 101",

6) A n9ap 7w, as derived from the 27713 - 15w W RAW A7 - Anw -fulfills the
requirement of “77°2 1NN thru NMn7an7 = “embodiment” = mowWna Q10 AWNI MOWAT.
Here the Track B offers =“Ann”= &Xn2°7K 7177 as 17°0 wan. Since an actual “status
transformation” is occurring (;77°7w to 77°2 Wnn) in a MWW 127 then avp 7y are
required.16

7) The relationship between 18277 2w and 1772p m°7W is basically summed up here:

29 799771 P75 PRI NDh 2'ann

7720 19w 12 TR VAT DR RO TONKRY 113 T R HYAT 9 MR CIR ARAT OW D20 100w IR
NIRRT 70 ANIR YIAROR TINRY DIPOW Y KD W D0 770 DAT VIATY 1100 ,TNNY
.7292 78277 HYa% IR XM 772p0

1 295 PR3 NI AR MIN

R27 MOW HaY K ,2"™ 79972 20D 19w ,ARAT 1PPWR 2 ROA0AW 11927 27272 wen ...
ROR ,TNRY MDY PV RD 0 D0 779 0 AW 1100, ThRY A22p% w17 7R N0 CIR
2onw (XX 73"7 R ,30 OW) "wI991,7292 IR2T? DAY IR RIM 77207 NORIN KT AW L,ANIR VIR
LT3 AMPW WY 0N K27 ,007 RN IRV 0D PV ORAW P17 11780 7T 9770 DY 787 709 mhwa
P2W3a 9277 WIDR 11°20 O9IR FEF IR AR MW MR LI%N T MO0 Wl KT OV3AT 70 RO

9512

10= 4 case of ¥pIp *23 Y¥n 0 v — see:
R TIAY 1Y 77 7Y% No0R 2222 7N
10195 AR X7 - YR 223 HYn PUoA 90 (X211 IR

' As demonstrated by a 7997 m9w.
12 1 e.mownb nomonn mwynw.
B Le.mywnn au awnm mowiT.
14 As learnt from 227571 12 YR DY 9P 99 1NN ORI
'3 So that the V3N Ny by the ¥ does not constitute PwIA.
16 See:
10 7997 2 P79 MW R M%a 0"ann
....... DTV "W 2192 MWYL X PUITRA 22R% mhw v 9
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,199172 POW WY IR 2" DY AWRT INRWIYW MMHYWA %17 1K) PV 001 ,RD1 WK 12 R
mhWw "3 9921 K17 32207 MOW INIRWIYW JWRST 2127 9292w 11°27 WD 1Y, RP IRRT RMOW
17292 7R2TY MRW L, LY N ,VAT 07222 2" PYITAT 2 RTPW 79°017 ROOW P71 ,a8270

Other o°1wXA1 also endorse this P17°1:
19
7Y 7290 1292 750
aR v"¥ ano Yt 7" 1TV 3 0 ML inRh nOND WK O W71 IRY "% MR g A" and
5y w17 71093 9209 AWK "MW 33 19 K1

2] wan oM
R TIRY 30 N7 WA Noon 1''anan wTn
12 9197 AOIY 27 WD 191,79913° 7'M M " WD LahYa T AWK VA 9aph 10w awyw 1) 1Ay
X*2727 73999 01, W3 TAWT 5990 11319 379 00 XpTA 1RPTA CXen 189" 131 awa B wan
1N 793P 0D 7O ORW WD 793P 190K 1w 590 7av D00 K91 1219 900 RpTn P79, AN
XX L7220 970 ORDRY X272 0°IWI) 21137 DWW 2I0P RAT T2 1982 YIN 2207 PIWwD 9o Ml
W FWYIT 1P MOW AWYIT AR 0w aN0 772p 0 WaT "1 nR N LMY P 3R R
TUAT 192207 ,7°0W WY1 KW 9"YR NPT 1301 " RDKRY T2 RN X109 R 17 70 K97 920
"7 7P0WDY 172 DK MYIR T NOPARY LRI AT WY L1003 NOIN2 IRY 97 9100 M7 NN
12 ROWp RY 2297 MW WY1 728 PRY 12 XR1P 03T YIN LRI MITOW 027 IR X7 1301 "9 12 00K
RY AR ROR NP0 XY 2121 1N1wn 7200w ORI MR M 2w PITRTY Wwwn ROW 999 ,nn
191.,M579377 17 1P7R2 PRY M2 2" 91727 1120 T TV DI 17 X0wp onl Rwpn P 11 man a1
W7D RPW ROR L5I0m on02 WD 72y MOHR X277 2R 72297 ROR 1MP00 ROW 9T wan 1aR 277 NvT
22w 117 W R LT T 12 00 LAWK 12w 1922p 09w L5V 100 00910 W LRI ORD 1A%YY DRWN
17°2 LA YW 11°97 7222 72w 2aR ITINR RADYT MMOWAY RAPYT 19w XX WK 79917 10w
VX TR YW WY1 TAVaW 2°71270 RO 191,10 DN IR 2RI PYIA? 1012 TR RIT DWan
SHW DA MARY R KD IR ,ORPIT 2209 A1 KITLKD KP1T 93P 17y Y BW 127 T
,0A2 70 077 PRI D92 1Y NTINA T2VT PRY 297 QLAY AR ,07°0Y 1P IR AR 797177 a'aw
'Y H"R WD VAT DR R°2IW T2V AR M AP RTW RNR QN7 1390737 AW PRI 07 IRIAW TN
129DRY WOR NWR T N7 11777 920 RAR M O919K R "R 9100 0T DR R°2W 72V X117 M 010 KT K2
X217 ' RVYT ' IART RTT D PIVAYI 11277 PN YW K ROT M OINT RTT MR M YR X7 X000

17 See:
712 12°0 D°R12°7 *1aR
1777 MW 3 17 "D AWR O WTRY IRY 2°3wH IR P 1" ana 't mwor 92 3"y 0 1a%57 200 - v nwwa [1]
5"y SYYTRY A3 DaRY AWK CMPW 223 19 IAR1 aX 381 a0 DM a1y

'® Interestingly- see above #1. See also:
1799531 279 PYa Mava 0"amn
aRY ,TOPM VWM WA 7AVM 27237 JWRnT 12 PIN AR 79917 109w 192 A%ap YWt 1A van mnhwh 1w Yon
JD3 IR DA TR TR X027 93p

19 See also:
R TIMY 2’ 97 1Y% oo 7" 9w 1M
1"2977 WD "1 N7 D SINnT RP1T AT WD IRAT? DAR 77297 ROR 1000 XOW K D" M9 A0 ' 200 DAk, ..
AR T NV RPPO RDT W 793P0 a8 LAY MHW AWYIT 111 ARATY MOW IWYIT 1Y LW 772p AR 1 0l wat b
7172P ROV P03 DTN IPRW 52 D100 N 92R7 19717 MOW WY1 RIAW 9 YRY WM MY ' RNDRY 1717102 SN9DORY
PR ORI WA 1T 03 PONTW 19072 722 MW DAR FTINR RADYT MMHWY XnHYT oW XX IR 79917 mO9WwT 39900
0% DTN IR DRI PUITAD 7010

See also 2 7MY 32 77 PYI N20A K"V WITR
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RZ1 791 72X 2977 N0 T ,IN1°32 927 HRY MW VA 72T 92P°W 02727 PRI MY ' owa
' W 92PY 2V KT 2P DR ROR AR KD 77 19720 03 23R DRI 139073 PYITRT PO DaR NINAONA
L2109 1197 DIWR W RDY NPT NI T WY ROVWIR ' QW2 RAX 12 2pW°

2] Possibly the w"x":
R 7IRY K% 07 PRI N20R Y922 TRk

POW W ROW A% - ANPWY 00 v RIW TR - 19w [72 2°127] X°InNT 2791m M

N/RR 07 PRITP DR DY '8N nsewn

5" WRT MIRWY T HYAn MmOwh 0 OKIP N TR ORAR DRI - O v RO 7abn anoun
777 WYR 2O9R R? 0"V DWOANAY SWR P2R INYTA ROR WA 1RW MITOW TOWT R P¥227 XNAT
IR MORW MING YN R PN

2] "o via pawen7 9o and Y7 9o,
3 AR 1 PAD 1°WtA NP AR
...... 203307 13037 19K 77 INWRY B3 N7 P AR AW 53 MR NS ToWI T N

2 71 1® N7 29771 Noon w2 Tnbn
1M KRR J1P0V RN INYTY PNWYA DRI PRVAIIN DR 27N......[17°207) IRIT TN |IPNK..
X7 99977 Y27 INYTY ROR 00 N IRA T INVTY XK IRDT YT 2977 Oy Hw Dy o0 Hva

IR KT 07977 YT INYTY RPDR INAT INYT 27977 D DY 1own ROR MMOW TavpT oY% 1nnp
TOX PR IRD ROR 00100 R NYT IR KRR 100 D0 DY 270 17w w017 NYTY IRD ROR 7100
TMIN2 971 RIT D1INN XD DIN7 7107 20 WAIRD K2 WARTD 2797 DY DY 057 S¥2 Hwn 0wk nvT

"

The 7"2m7 deals with a well known X*wp:
N T18Y 10 07 1°w0a noon 1''anag swnTn
71727 727277 '92 KINA2 WD INWRY VA 21027 1P VWi 93 IMRY 1122 TIwIN W 0N 10T R
12 070 1772072 ARIT TN P2 PR D 0°7712 JINT R DY ROWPT XX, T2V K 7°PNITOW 210D MAKT
7371 "R T02Y RP MDY DOAR ORI L2107 R 21N IR0 92 INRT 'MA2 77 139001 10mn
220 AT 7O IND MW IMID RIR 1KY APTY U2 D107 X107 9 anaT XOWIP AR 1IN0
177 D19 XXM IR N> 23X 772 ('R 2"2) MINX°¥A 19X 'D2 1WARTD °307 911 RNYT M12°3 12908 71n17N
.72170 AN
According to the 1"2n7, 7170 nwos is possible without MM bw at all.nx177 95 is not a
valid "1°n. The M211 occurs via nv7 »17°) alone without formal mmbw.

Other o1wx disagree:*!

20 See also:
2 7MY ¥ 97 MAIND NO0A *233 70N
VAW DI MR ;7122 oW TR O JANM 27°2VR ML IR 37 AR 991 .7°097 11K 17 99 IR (X172 NN,
SRR T 99 270 KRR °A KT ,2102° IARP QN ,RNWT 3 13071 1202° 19R 77 - INWRY 0 21N2° 1P
2 7MY ¥ 77 M2 noon 2"wA
R PMRW N7 PY MR K27 YR 17 2100 19307 7Y MR X7 A"YR - 11071 12007 19K 07
AP YD aRNE WD - 210° RP o

2l See:
2 7y 2% 97 1w Noon "0 v 1M
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R TP 10 17 1WA N20R NSeIN

12 ©7INT 1AM ARIT 7N 023 (12 97 2°7171) TINT P2 PR P92 1NRT D"YKR - 1219 v 93
RP K7 927 2¥27 ROX OO0 7MW IRD 77T ROVTY? XD 0K IRNT INYT? KIN32 2271 0872 100
IR 507 AR 037 DIWA IRY 21071 K2 21N AXI7T 93 MINA 737 00 oMLY 7avT Y 21n

792 WM MMLY W KD RPIT IRIT T PR XOR MTRY 1093 03T 2oy pmmhw
YW 9 RHOR 297 7177 92 KRR R? ROT P00 WY RAW IR NTYD 12 MK RHW 1170 7Y 7303
A9 YWY N T TT

Analyzing both 0°x17°n of NN according to our model:

1123Y7 39 MI% X5W 1% 7°7 73073 T2 2WMw MTPow °WR 8D XP1T ARIT 170 PIvY XX — that is
to say -BOTH »1°n via ymwn 95 and 178177 92 create mimow. Only due to the
“indeterminateness” of BOTH these pronouncements they can only create “basic” =
“Track A mmow” -n> n°on  that is “mn o787 13 - centered”, where the MYy2 possessed
over the entire process allows for wielding that authority as the 2v2 sees fit. Yet such a

"2 PR '92 730 XAT AR AV RP TOMMOW N3 MRT 1107 (2 Y A7) 1PTAT PID WA RAv 2"WIDY 107 12027 1R 7
[>377 5¥2 5w npT2] *7377 H¥a Hwn oMn oKX [217 77] B2791 0877 PMIwYA IR PN DR 1M (2 72 7) a0
MR 1T ORT MITPRW T KD A"A2 RAPR D101 R 21707 77 90 IR 19P00M) MITOW 70V RpT 0D 2300 P XA
S2IRIT MW IR DR MWD 10130 KOR PRI INYTA WARP D107 X177 90 aNaT ROWIP AR 00 1070 K KT 10000
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They" is pointing out that the X713 in n7a seems to explicitly reject the idea that the m> ¥R 795 case is
dealing with a non-mm 7w track. Rather it implies that 7¥1977 93 creates mn>>w. Thel" concludes:
MMOR RPW 272 17°2 21772 WA RY 1700 XPW 103 17"'DK M OMOW X177 92 IRAT 917 '0IN2 1R1NW 113 AR 207
...RI7 TIN2
Apparently The 7"217 holds that 7m0 N9 can occur via EITHER a formal mm*?w or via a non-mmn>ow
track, EVEN according to the 111701 of the X713 in n"2. The difference between the 2 “paths” to 7m0 nwAss
are-
1] There is only a 17 of “dMn>” if a formal MP%w route is used, 2] If a m°%w route is utilized than all the
relevant 217 of mmow apply.

The o"2m appears to endorse such a non-m*w track as well.
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22 Le.mmow is certainly operative in Both cases.
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"1°n does not create a status of “in3” — it cannot access “Track B mmow ” = Xn>> X 77
whose focus is Mo ni of the Twyn which requires a more clearly delineated creation of
o°o¥3 status.

w173 requires ONLY Track A to be 1 2 therefore an “indeterminate »11 ” is
effective.

A 771 of 78377 797 can ONLY be violated by a m>w with the status of “0°9v2” — therefore
BOTH "1 via ymwi 93 and 172177 25 would not violate the 272.

21 19 vmWww D 3T TT YIS 99 ROR 21027 X177 92 MKRP RY RIAT PON0 WO RAW IR —
That is, ymwi 92 is a complete *11°n that creates “full” nmbw = “Track A-mo¥2 -n> non
with a subordinate Track B-0°9v2 -XN2" IR 37°”.7%177 95 is an “indeterminate "13°n ” that
can access “basic” Track A m°2w -n3 n°on = MYY2 ,but not create a status of “Mn3” —
Track B mmow = o°%v2. A 971 of X377 971 can ONLY be violated by a mow- if the mow
has the status of “0%v2” — therefore a "1 via 71177 3 would not violate the 771.2

I believe the 1" is basically making this latter point:
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DN 53 R K 2aR 2amn nmen ann® 2o mmhw M1 8D 970 22597 21 1MwnY M0 ROVIRR XawD
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3]mimbw Swea

The mawn clearly allows M*5w 910°2 even 1°5Wwi %192 ROW:
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YONTWN DR ;202 77 077 - K17 202 77 ONAPWW LA 77 MR, A9ER 700w IR INWKR PXR 07 ;702
X2W 12173 287213 127 PPN 120221 I0R 21PRn 72 AW 300 ANwKI2 17027 2197 10K 2w 7700 03
02w 112°N °197 ,19 PYwWT
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» Assuming that v3 n2°n3 doesn’t require “Track B” level mm*ow .

?* In this 79 it is possible to hold that v3 n2°n3 does require “Track B” level mmow as "1 via ymwn 93
provides this level.

*> That is, y5wi 92 is a complete "1 that creates “full” mmvow = “Track A-nv>ya -nid nvon with a
subordinate Track B-0°%v2 -xn>»R 17”

26 1.e. a 71 of X3 97 can ONLY be violated by a mbw -if the m9w has the status of “0*9v3” — therefore a
"1°n via 7177 25 would not violate thenT: .

27 Because “basic” Track A mm>w -m3 n7°on = mb¥a can accomplish this.
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Another ?12°11 between the 2 types of mmow:
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1] 2102 alone ineffective to undermine M ow.
2] 9p 1w ! alone ineffective to undermine nmow.

8 On this mwn see ahead.
 n our terms = “Track B”mm™w -Xna™x 77 -7wyn» oriented.
3% Based on a My of XYW "X,
31 See —
v 7923 7 279 1IN MIYT Jawn 103

7107 5027 R7DP K7 K TOPAD 77T PR 1 WT
Also note: 1) We are dealing with a case where the m°%w was given detailed instructions (so that a
deviation is possible), 2) A major deviation will undermine Mm°>w alone. See:
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3] Both together effective

R 1290 AT 391 W
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The 7w was apparently bothered by the idea that 2 forces, generally effective in
undermining Mmow independently, need to combine to undermine this mmow.
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The o"2m explains this 72wn, based on the w12, as a 17 in mmow.*
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The 77287 quite expectedly questions why the 0"2»7 seemingly follows a minority opinion:
DR KXY ART 9" NYTY XX IMTOW 1w FIWAT DR MW 1TV XYW WIRR WD pODW NN AT AR 1A XK
7NN RN227 091 2T Hoam N7

See also:
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D021 DR PR IVER POV 0D T 7AWn DDA ANW 1A AW 1IN MO M7 Huam M7 NRT DWTNPR PR 1YW A TRY
2"V M IMmYY
OR 72170 723 DR 1277 K0 N7 NR BP0 AT 12 PR PWRIT NPT 02PN ORY PYITR 2237 PMTa PINY WK
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33 80 too in a n"w:
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What is the basis of the 2"2n°s nvw?

Approach 1 -There is no need for mm>5w for 7m0 nwAon:
N TI2Y 10 07 7°w0a Noon 1''anaa swnTn
T1°27 72777 '92 KINA2 WD INWRY VA 21027 1P VW 93 IMRY 1122 TIWIN TN 0N JINT X7
12 07N 177207 IRIT TN 12 PR D 0°7712 10T K DY ROWPT RDRY,T02Y RP NITHOW 2100 WART
7371 0"R T02Y Rp MDY DOAR ORY L2107 R 21N IR0 92 INRT 'MA2 77 139001 1Nmn
223 K17 PITOW KD DWW 113D ROR JIOR) INVTA WARR 21N X177 20 2NAT ROWIP 710K 100
177 NID? XXM IR M 23X 772 ('R 2"2) MIX°¥A 19X 'D2 1WARTD *307 911 RNYT M12°3 12908 A1n17N
.7A170 AN

o"ann appears to endorse such Non-mm?w pathway.
3 71997 7 29D N1 nisha 2'ann
5Y2 X2 OX ,20M O0R°W 272 MWI2 XYW MO ¥R 91 17720 37 70?710 IR MwIa X2 2100
aw 17 XY OX , 19PN 1R AW 72170 1NN DY anKn MDY O 1P aRk MD° D¥N '[53 19 K1 Nan
M9 1% W 12 97011 BP9 N7 YA KA ORI, AT 77T DY RDR 19 MK KW 9170 1m0 PR mo°
10 NN PR P T
This approach is inadequate to explicate our 2"2n". The 0"an" clearly explains that the
reason 71’1 alone is insufficient is 1272 1M 2w 031 DX PR IPPRR 9990w 09 . That
means that the mn>5w itself survives and leads to a valid 7w-o5, in the absence of BOTH
91022 and "1°w. Whereas this approach is positing that the mm2w is wholly undermined,
and an independent “ny7 "9°” route of taking 77N is operative.*

NMEA2 121N MT2Y QWS 1220w IR ,N°7122 10101 125 0°72¥M .00 %12 DOMYW AX N2 %12 anK 77 .00mhw
172VW L1237 7121 121 219N INNOW DR IR 172V DX IR NP2 12 DR WA (712 2D niain] mawnn et .omhy mbonn
TWR ANDY A3RW 11D 790 WD 191 2170 12w amwy 17 IR 103 120

3% Another version of this approach avoids the issue of rejecting that the 71297 is dealing with mn°>w by
invoking 121 -Though the 7"2n7 seems to be positing a “ny7 *17°3” route that doesn’t use "1, MR X2PY 227
postulates just such a view and we could apply it to the 0"2n7 as well — that is in our case “regular” mmow
fails, but 1271 survives.

R 7Y 22 07 RYO¥M K22 NO0N R RI°PY *27

R MIOTT 1192 112 11X, 7" P MW oy XY 027,010 73177 92 037 1aIn2aT 112000 nana T 9™ ot
032 2"RWR ,0TR? PIT QLA O1IN? AT ORWN 73 01 0107 A7 901 MY RPIT RN MWY? TOpn 1RY 7" 010
R PRI YA 9 DY WIP02 LW AW RPT 1190 N0 WOV RAWT 21037 79X 92 101 K7 7210 1AXya 12707
.7"¥915,5""191 RIp0MA N0 R T JWRRT D920 1177 11077307 1107

Again, 0"2»7 can be seen as agreeing with such an approach by mm1n.

27997 7 279 mn1nn Ma7a 2"am
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Approach 2- using our model of mm*5w.

1) Once we know that 72170 nw9577 can occur via a non-mMm>w pathway, we
therefore know that a “Track B -0°%v2 -8n>7R 177 type mn*ow can CERTAINLY
effectuate a valid nwos.

2) Generally this would only be a theoretical point — as MW involves 1710°2 a
“Track A-m>ya -n> non type MW with only a subordinate Track B-o*oya -
Xn>R 777, Therefore one cannot GENERALLY access an independent “Track B
-0°HY2 -RN2MIX 77 type M.

3) As we saw mowi *192 ROW MmYw 712 undermines “Track A” not “Track B”.

4) Normally this point is irrelevant since in such areas as 2°2°1p, PR, WP
once “Track A” is undermined the entire mm*5w fails. The existence of a
“disconnected -independent” “Track B”m>w is meaningless.

5) By mmn nwnoi THIS IS NOT SO- the “disconnected -independent” “Track B”
9w IS relevant and can achieve a valid 72197 unless undermined by 1w,

W 719957 3 PND MIROR Mo 2 ann
....... DTV 1w CI02 MWYY IR PYWITR 22apY MY w92

Based on our previous analysis it would appear that a Pw17°pi 22p% oW, like a 722p mow,
operates via N1M?an = “embodiment” = n2wna 7130 2wnl 17wa7. Here too, presumably the
Track B mmhw creates a “Inna”= RN2°IR 77 status as 77° wan. Since an actual “status
transformation” is occurring (2w to 77° WHY) in a MIYaw 127 then 01°p 7Y are required
But- we would then expect that °%wi °192 Xow m*ow 7102 alone might not suffice:

S 779957 1 PR MIROR Db a''ann
DTIP X Y17 TRY 772 730 MPOW 77002 12700 DYV AW TR 1M AwTR MDY Inwyw UK
2T RW AWIYW WORS 191,P90% DWTIPA T 00 PRITRA MK W 770 PuITRa A h20pw

2NNM 1MW 120K PR SW DR 20w "MV, TORM L T0IWM L, WAnT L0 IR0 PR 190 aRY 1100 R awnn
JIMIW 190 IRIT D210 .00 M0 12°N1 5100 11 00 20K 2w Y 17w ang 2aR ,0°9Yan M2 XRW 190 IR IR

.IXW 170 909

The problem with this approach is similar to the previous approach we offered — based on the 7"an7. If we
assume that the basis for our 71277 is that 9102 suffices to undermine regular mm°>w but that the route of 1°27
survives- as long as we can assume that the owner is pleased with the result, despite the 21°3, we encounter
a number of difficulties.

1] When the 0"2n7 says 1272 109w 2021 DR TR IPHIR H950w 07 it means that a standard mm>w cannot
be undermined by a 1°2 alone in those cases that we can invoke 127 .1t is not 12non that in the face of the
explicit expressed desire of the owner that the 7°%w not perform the w1977 for him, that we would, or can,
invoke 731 and force the results of the 7w on him [even if they are commensurate with what he himself
would be w>on].

2] The 0"2m1 implies that mn>>w in fact survives. As such we would have to assume that the 0"2»7 holds
127 is a form of M*%w. Though the 73 [see ° 1107 "W PXMW n312 | apparently endorses such a view, it
is not without controversy.
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The P19°11 between a PWITPR 22p% oW and a 772p %W lies in the fact that in 7wy the
role of the WX is completely delineated by her 5"y status. Her ny¥7 plays no role. She has
no MY¥2 in the process and therefore no access to “Track A-m%ya -1 NP0 type MY,
By 7w17°p the woman’s n¥7 has a role:
2 TIAY 2 07 RITIP Do Y9aa Tnbn
XD YT ROV LR ANYTAT ,NIP1 AWK RIN 0"V 990K K", KIN K RN, ..
As the X ma states:

N TP TH 07 PRNTOR Nooh S9aa 7N
JTAR 72 KO P2 - A0 VAT PRI LRI RDY AN - ANYTRT PRITR. ..

R TP 71 07 PRI Noon v''wn

JTIPRA YT VAT - ANVIAT PUTR

2 NYT? 117 AT IR 1A ROT 172 A0 PV IwOw PRI 2aR 19 00T NAW - R0 RDY AR
X7 7°70 DV N1 NTR Y 9apn

2 TP VY AT NBa® Noon Y'Y
VW ANyTA (73 ©°727) MK WK A0 A9 - RROYT PR

For the 0"2an" something even “higher” then n¥7 i.e.1¥7 is expressed by the 7wK.

N 799577 7 270 MWK Mok a'ann
VTRY TV IMOIRY WIRT 22K ,NWTIPA AR 770 DY WR WA 21802 ROR DWIPNN UKD PR
...... 35 nwTIpn 1 73 M0 v

On the other hand- her role in Pw17°p LIKE in 7217 is completely passive.

R 7Y ® 07 29171 noon 1"

TAXY D°IONW 73°7 92 KD WORD AWK ARYN 3 IR XYY AWK WOR 17P° 3 72K 77INAW 100 KOX...
KPR Wi 7177272 PR 72 NOTIRG 1077 RO 70K ORT (797) 1PRTORT 2192 PR "Wk oyan mwab
DY P07 YW 270 HYAN DER W01 Wm) A% YT NP0AA RO WORA OWITRY NHR0R RITW 1100
....2Y20 78 ROR OWRT T PRITRPA 1°IT AR PR 7977 1MWw? 70°107

She is not creating the m%n, so that “Track A” alone MIGHT suffice- she also cannot
utilize “mere” Morn*>n as she is performing no active Awyn. Her Pw7pia 92p2 mow —like a
192p 17w - functions via Mavana. Yet in 7R unlike 72170 nwasi once the MmHw w2
undermines “Track A” the entire mm°7w fails.

3% That is the 7wX requires something more than mpni ny7 needed in any 79% 137 , the process can only
occur with her TOTAL consent. Thru her %7 she has an aspect of M?v2 over the process.

This also explains the difference between the 17 by a man — 11 >33 1773 2¥2 WPW 7V IMDIRY WX 23R
nwTpn -parallels a 75 11p completely and a woman — no 11¥7 — so not nwTpn [even though by a 13n the 17
would be the same for both].

How does the o"am fit with:

2 7vAY 2 A7 XIN2 K22 Noon V922 7nhn
WY 2907 110 KOW WY RIT,1M0 KD PWITP ORTY AWRA DR WK 27 72 92 . PVITR PRITR - WITRY IR0 R nk
TR TWITRR 1127 1YPORY 172 XYW Y

57a0R
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